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BACHELOR’S DEGREE PROGRAMME 

(BDP) 

Term-End Examination 

June, 2023 

EEC-013 : ELEMENTARY STATISTICAL METHODS 

AND SURVEY TECHNIQUES 

Time : 3 Hours     Maximum Marks : 100 

Note : Attempt any two questions from Section ‘A’, 

four from Section ‘B’ and two from  

Section ‘C’.  

 Section—A 2 × 20 = 40 

1. What are the components of a time series ? 

How can seasonal variation be removed from a 

time series ? Explain. 

2. (a) Explain the concept of correlation. What 

are the properties of a correlation 

coefficient ? 
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(b) From the following data, calculate the 

correlation coefficient between X and Y : 

X Y 

5 8 

8 12 

10 14 

12 10 

13 13 

15 16 

17 14 

18 18 

20 20 

22 25 

3. Discuss the various definitions of probability. 

State and explain the laws of probability. 

4. Discuss the steps that you should follow to 

collect primary data. Design a questionnaire to 

collect information on domestic help. 

 Section—B 4 × 12 = 48 

5. How is a hypothesis formulated ? Explain Type-

I and Type-II errors. 

6. Explain Karl Pearson’s and Bowley’s measures 

of skewness. 
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7. What is a life table ? State its uses and 

limitations. 

8. Given : E(x) = 10, Var (x) = 25. Find positive 

values a and b such that E( ) 0ax b   and 

Var ( ) 1ax b  . 

9. What is Fisher’s ideal index number ? Does it 

satisfy time reversal test ? 

10. What is F-distribution ? Point out its 

properties. 

 Section—C 2 × 6 = 12 

11. Use the following data to construct a histogram : 

Class Frequency 

0—10 4 

10—20 6 

20—30 14 

30—40 16 

40—50 14 

50—60 8 

60—70 5 

12. Write a short note on the use of a contingency 

table. 

13. A fair die is thrown. What is the probability of a 

3 or a 5 turning up ? 

14. What is Kurtosis ? What is the nature of 

kurtosis in a normal distribution ? 
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2 × 20 = 40

(time series)

(properties)
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X Y

X Y 

5 8 

8 12 

10 14 

12 10 

13 13 

15 16 

17 14 

18 18 

20 20 

22 25 

(Probability)

4 × 12 = 48

(Hypothesis)

-I -II
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(skewness)

(life table)

E( ) 10x  ] Var ( ) 25x 

E( ) 0ax b  Var ( ) 1ax b  a

b

(F-distribution)

(Properties)

2 × 6 = 12

0—10 4 

10—20 6 

20—30 14 

30—40 16 

40—50 14 

50—60 8 

60—70 5 
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(Contingency task)

]

(Kurtosis)

(normal distribution)
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